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30

25
3cm

30cm
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300
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15 75 / 0.95cm

71 / ( ) 17

/

V=,/2gH =+/2x32.3x50 =56.7ft/sec=17m/sec

32.2ft/sec/sec=
H= : 50 15
Feet Pound
71 158lbs 15 50feet
50x158=7900Ft-Ib 33,000 0.24HP
1HP=746W 0.24x746=179W
269W

DC
300 12vDC

12vVDC

12v

60Hz



1.2KW
DC DC
5cm
48W
18 2 25-100V
10cm
18
50W(12v A)
60HZ
170W 36W
25w
12vDC 3A
4
12VvDC

3600RPM

17

24VAC/2A=48W

25W, 2A

40-50%

120VAC ©60HZ

300
12v

21%

3A

DC12



60-70%

50%
DC
DC
24 360
2
80% 4 1800RPM AC
60HZ 60-400Hz
100W 170W
100W 59% 85%
69% 120VAC
12VDC 6A
72/170= 42

120V



